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m T WSIHITRET | #EE | 4/15 110 EIES 30 22 152 | 5/10
2k | REGFEAEA | #HE| 4/F 100 GES 30 18 18.5 5/8
e Emhmke | ME | 4/3 120 EES 30 21 15.9 5/1
HE HEMEIE | hE| 4/E 100 GBS 30 18 18.5 5/3
HE HEMKZE | FE| 4/ 120 GES 30 18 185 | 4/30
JEMH SLEHITER | fE | 4/F 120 HES 30 18 18.5 | 5/20
BxR JIKRETHZE |[#E| 4/TF 150 e 30 21 158 | 5/25
AH | KEWEIUET | ##E| 4/10 130 2 30 18 185 | 5/13
#mH | WEATWE LR | f#E| 4/5 120 LES 30 18 185 | 5/11
R | [RIxDSETRE | #E | 4/19 130 GES 30 18 185 | 5/20

E=ie bl = EZZERS
BRIF HBEIBFT (kg/10a) (kg/10a) (kg/10a) (kg/10a) {ii& x
NO PO KO NO PO KO NO PO| KO ZEMRIER | &5
W T | WIHITXEr [6.0[3.0]3.0 60| 3.0 [3.0] 3.0 3.0 |B#—%266(12-6-6) 50kg
TR ZEMFEAET 16.0]3.0[3.0 6.0[ 3.0 |3.0] 3.0 3.0 |B#—%266(12-6-6) 50kg
Ef | ErmmmKEr | 65065(25 65| 65 |25] 3.3 3.3 | CHRA#E355(13-5-5) 50kg
= 2£)IIPBNEWT=L V5 (10-12-8) 20kg
HE HETRLEIET |20|24(16(20(06)|16[40( 30 (32 14|12 ]| 25 25 )IIPBIF A (10-3-8) 20ke
HE HEMKIZE 16.0]3.0[3.0 6.0[ 3.0 [3.0]f 3.0 3.0 |B#1—a—+266(12-6-6) 50kg
3 3T 3 an HGH#666(6-6-6) 60kg
JEF | sTEWIEET [36(6.4)36(24(08]|60(60| 7.2 |96 17 || 17 B i s
BH JIABTHE 3.0[/30[30]|/20[00)26[50] 3.0 (5.6 20 | 2.0 |F#666(6-6-6) 50kg
= +5L5H#820(8-12-10) 20kg
KH KEMEILET |24(94(20]|20|07(1.7(44]|101|37[ 15| 15 | 3.0 5 LA #240(12-4-10) 30ke
= H #AHmHELEE [6.0]3.0]3.0 6.0 3.0 |3.0f 30 3.0 |BA#1—2—F266(12-6-6) 50kg
25 | iRk BETRE | 40]24(24[16/00[20]56] 24 [44] 2.0 | 1.6 | 3.6 |H#1—3—1066(10-6-6) 40ke




